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SOLUTION TO FIRST CYCLE 2012 BUSINESS MATHEMATICS

1. Letthecapital=1
AV = C(1+ D"
= 1(1.05)"
log2
log1.05
n= 14 years (B}
5. Unique payment = C(1+ D™ P 4+ C(L+ D" 4 b4

n=

= =4
; AV = 10000(1. 09)2 + 20000(1.09) + 15000 + (1’7‘* :

AV = 11881 + 21800 + 13761.461 ;

AV = 47443 FRS (D)
3. Let the initial sum = 1\

AV =c(1+ i)™

3=11(1+D)%

20logl +i=log3

r—56% e (C)

Z"’f": 0.07

n = 01/01/09 —31/12/01 =3
AV =C(+ D"
2000 000 = ¢(1.07)?
2000000
(1.07)3
€ = 1632596 (B)
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5.

6. let the increase be in AP with first term = 0
d = 5000 tons
n = 1990 — 2011 = 20 years

=5

Zd-[m ]{21 + 5000}

'd = 1050000
Total product = 1{)50000 + 1 000 000
Total = 2 050 000 {A)

7. N = 20000
C =200
ci=11
R =220
n=15

Ay =926.85 ~ (D)
8. AV=C(1+ 1)“
=+D"a+D"= %@ = (L06)"
1.33822558 = (1.06)"
oo log1.33822558
log1.06
n = 5years (A)

9. ¢ = 3000000
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AV = 4964987

n=2=8

AV =CA+i)"

4964987 = 3000000(1 + )°
4

1.654995667 = (1 +i)°

i0g1.654995667
8
logl+i= 0.027349607

1+i=1065
i = 0.065
r=6.5%

=1F1L

10.

11.

12. Let the lstterm =a
commonratio =7
5th term = ar®

gthterm = ar®

arB == 32805/@*'

(4)
13.
14. NAV = oV (1 —1)"

NAV,, = 0V(1 — 1)
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15.

400000
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400000
AV =—e= 80000

= 80000 = 400000(1 —7)*

80000
- (1 _ T)lZ

0.2 = (1 —7)*?

log0.2 = 12logl — T

log0.2
12

logl—1r= 0.0582475
1—1=0.87448

logl—r=

r=12.6% (D)
daily expenditure
breakfast = 2

eakfast = ) .
L h = 5

aunch = 3
dessert = 15
saving = 19500

9

Total budget +
Total budge ‘ 1950— ’ 3+ 4

otal bu gef— ) =60 +—6- 45

‘;’M . e
Xy%
27~j— 90% 16 B 133
%80 0 180
180 — 133 = 47 ;

47 = 19500 ’
180 ==x
47x = 3510000

_ 3510000
XT Ty
x = 74680
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Total budget = 74680 Frs
16. Original price = 100%
Price decrease = 25%

New price = 75% of original price

75 = 6600
100 =x
x = 8800frs

Original price = 8800FTs
lo = 192300FTs

B8 [(1 - (1i+ i)’”]]

ST,
&,

0.0416 ] B) 7

265 = 19230
23746.265 = 1923 O{[1—(1.0416)‘"]

23746.265 0.0416
. 192300  [1 - (1.0416)7™]
0.123480369
- -

SECTION B

17. Let the two Jgﬁ%oﬁﬁtb =

A=A % ;

3 G
B = A FB= 0754

; duration of investment be =t

Ypr 6+t 0754+ 6x (t+6)
771200 1200
, 0.005t = 0.00375 + 0.02625

0.054 — 0.03754 = 5000
0.01254 = 5000

A = 400 000
B = 400 000(0.75)
- B = 300 000f7rs
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18. Interest of last year = 948.39
Apq =22797.875
An—l = An
= An = 22797.875
a=An+In
= g = 22797.875 4+ 948.39
a = 23746.265
a=An(1+1i)

1+i= a4
b= An
23746.265

1+1i=55797875
4= 10415999 = 1.0416

i = 0.0416
r=416%

10(0.0416) = 8000

o = 8000
%= 00416
o = 8000
° = 00416 X
lo = 192300Frs {

o [ i } mﬁ W‘?
= (1 - (1 + i)_n] %
23746.265 = 19, 0.0416 ]

b - REN ,: = (1,_04.16)_71] |
23746.265 <\ e
192300 11— (1.0416) "]

0.123480369 0.0416

{10 thg:yfinancial table,—n = 10 years
g1 =10 years
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